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	END OF YEAR EXAMINATION 2009

SECONDARY 1

	Mathematics
	Thursday, 16 Oct

	Paper 1

	1 hour 15 minutes 


	Instructions to Candidates:

	1. Write your name, class and class register number in the space provided on the cover page of this booklet.

2. Write only in dark blue or black pen. 

3. Do not use staples, highlighter, paper clips, glue or correction fluid.
4. All answers are to be written on the question paper in the space provided.

5. 
6. If working is needed for any question, it must be shown clearly with the answer in the space provided for that question.

7. You may use a pencil for any diagrams or graphs.
Information For Candidates:


CALCULATORS ARE NOT ALLOWED FOR THIS PAPER. 


OMISSION OF ESSENTIAL WORKINGS WILL RESULT IN LOSS OF MARKS.

           If the degree of accuracy is not specified in the question, and if the answer is   

           not exact, give the answer to three significant figures.  Give answers in 

           degrees to one decimal place.


The intended marks for the question or parts of the question are given in brackets [ ].

The total number of marks for this paper is 50.


You are reminded of the need for clear presentation in your answers. 


This question paper consists of 9 printed pages (including this cover page).
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	1        Express 

          (a)    0.020743kg to 3 significant figures.



            (b)   
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 as a recurring decimal.
          (c)      0.912 as fraction in its lowest term.

(ii) 

(iii) 
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Answer  (a)………0.0207………………kg [B1]  

                                                                                       (b)………0.63…….……………[B1]
                                                                                        (c)………
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2       (a)
(i)      Express 2916 in index notation form.
             (ii)      Hence, evaluate
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          (b)         Find the values of 
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Answer  (a)   (i) 2916 =………22 x 36………………[2]
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                                                                               (ii)
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 = ……54………………….[2]


                                                                       (b).…….……..………220…..……....….....[3]


3  (a)      (i) Given that   p : 9  =  4 : 15, find the value of  p.
              (ii) Given that 2x = 3y, find the ratio x : y.
    (b)     Find the HCF and LCM of 18, 24 and 60
.
   



(iv) 

(v) 


Solution:
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                                                                 Answer  (a)(i) p = ……
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                                                                                    (ii) x : y = ………3:2………………[B1]
                                                                               (b) HCF (18, 24, 60) = ……6…….…[B1] 
                                                                                    LCM (18, 24, 60) = ……360……  [2]
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4     Evaluate 
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5        (a) Simplify the algebraic fractions  
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          (b) Subtract 
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                                                                              Answer   (a) ………
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                                                                                             (b)……2mn + 2m + 8……….[2]
                                          
6      Factorize the following expression
         (a)    
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           (b)    
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                                                                         Answer (a)…..…3de(2e - 1)………………[B1]

    (b)…..…(5n + 8)(m – 1)……………[3]

7 




7         A factory has 150 workers of whom 
[image: image33.wmf]x

are women.
           (a) How many men are employed? Leave your answer in terms of 
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           (b) If the number of men is 4 times the number of women, find the value of 
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 Using only algebraic method to solve it.
Solutions:
(b)
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                                                                          Answer  (a)……………150 - x……men [B1]

                                                                                       (b) x =.………30……….women [2]

8     Estimate, correct to 1 significant figure, the value of 
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                                             Answer …………100………………….….   [2]
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(a)     Solve the equation 
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          (b)     Solve the inequality  
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Solutions:









                                                                   Answer (a) x = …………
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                                                                               (b) ………
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10 10. 

(a) 
(b) 
(c) 
An athlete walks a distance of 1 km at an average speed of 6 km/h and then, without stopping, runs a further distance of  800m in 2 minutes. Calculate
(a) the time, in minutes, it takes to walk the 1 km

(b) his running speed in km/h when he ran the 800m,
(c) his average speed for the whole journey in m/min.

Solutions:

[image: image48]
                                                               Answer (a) ……………10………………mins [B1]
                                                                            (b) ..……………24.……………..km/h [2]
                                                                            (c)..……………150……………..m/min [2]
(d) 
11. In the rhombus ABCD, DB cuts AC at X and 
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 The point P on AD is such that PX = AX. The line PX produced meets BC at Q. Calculate

     (a) 
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[image: image51.wmf],

BQP

Ð


     (c) 
[image: image52.wmf].

ADC

Ð



Solutions:
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                                                               Answer (a )
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11 


12. The figure below, not drawn to scale, is made up of an obtuse angled – isosceles triangle with a height of 20cm, 2 equal sized semi-circle with a radius of 7cm and with another smaller semi-circle removed away from the triangle. 
Taking ( to be 
[image: image57.wmf]7

22

 , calculate
(a) the area of the figure,

(b) the perimeter of the figure. (excluding the dotted lines)
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Solutions: 
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                                                               Answer (a) Area = ………
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                                                  (b) Perimeter = ……
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